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How does VRO integration benefit the management of virtual infrastructures in VMware TCA?
Response:

A. It simplifies physical hardware upgrades.

B. It automates tasks and processes across cloud services.
C. It increases the speed of data transfer between devices.
D. It reduces the need for manual system checks.

Answer: B

When evaluating CNF or VNF faults from a VMware Telco Cloud Automation dashboard description,
which steps are essential?

(Choose Two)

Response:

A. Check the connectivity status of all linked nodes.

B. Review the event log for recent warnings or errors.

C. Verify the version compatibility of hardware components.
D. Analyze the fault management tab for specific error codes.

Answer: B,D

In terms of infrastructure automation, what does versioning control effectively manage?
Response:

A. Increase in data breaches

B. Conflicts arising from simultaneous changes
C. Inconsistency in user interface designs

D. Reduction in automation scope

Answer: B
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During the NS life cycle, continuous is crucial to ensure service reliability and performance.
Response:

A. auditing

B. monitoring
C. costing

D. advertising

Answer: B

What is the primary function of VMware Telco Cloud Automation (TCA) within the Network Functions
Virtualization (NFV) architecture?
Response:

A. To provide virtual network functions (VNFs) and containerized network functions (CNFs)
B. To manage hardware resources

C. To automate the deployment and orchestration of network services

D. To monitor network performance

Answer: C

Which of the following are types of TKG clusters?
(Choose Two)
Response:

A. Management cluster
B. Workload cluster

C. Data cluster

D. Resource cluster

Answer: A,B
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Given a system problem in VMware Telco Cloud Automation, which log file should be primarily viewed
to troubleshoot a connectivity issue?
Response:

A. User activity log
B. Network event log
C. Installation log

D. Security audit log

Answer: B

What are the key business benefits of automated CaaS deployment?
Response:

A. Reduced IT operational costs

B. Increased production of physical servers
C. Enhanced manual configuration processes
D. Accelerated application delivery

Answer: A,D

Which of the following steps is critical when deploying a Workload cluster in a no-internet environment?
Response:

A. Configuring an external DHCP server

B. Ensuring each node has a static IP address

C. Setting up a direct connection to VMware support
D. Using a local mirror for all container images

Answer: D

How does VMware TCA assist in the Life Cycle Management of NFV components?
(Choose Two)
Response:

A. By offering predictive maintenance capabilities
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B. By automating deployment and update processes
C. By providing detailed logs and alerts for network operations
D. By enforcing security policies across virtual network functions

Answer: B,C
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